GRAMMAR

The house was so big — (durum) So ADJ that + sonug

that 10 people could live in it. (sonug!)

| am here so that you can (<3) learn. so that + AMAC

Ogrenebil diye buradayim.

| was here so that you could learn.

Passive (be v3) EDILGEN (-l -n)

Function: 6zne isi yapmiyor, isten etkileniyor. Asil 6zne ya dnemli degil ya da bilinmiyor

Present | ACTIVE PASSIVE - Active - Passive ?
Simple be not V3
BE v3 Active /
PASSIVE
+ Every year, Every People don'’t Rainforests are Why do
people cut year, protect not protected people cut
down millions | millions of | rainforests enough. down millions
of trees. trees are | enough. of trees
cut down every year?
(by
people). Neden
keser?
keser kesilir korumaz korunmaz /
Why are
millions of
trees cut
down every
year?
Neden
kesilir?




Past Last year, Last year, | Last year, Last year, Active:
Simple | people cut millions of | people didn’t rainforests
down millions | trees were | protect weren’t protected | ?
of trees as cut down. | rainforests enough.
usual. enough.
Passive:
kesti ?
kesildi korumadi korunmadi
Future Next year, in | Next year, | Next year, Next year, Active:
(will) 2023 people | millions of | people won'’t rainforests will not
will cut down | trees will protect be protected ?
millions of be cut rainforests enough.
trees as down. enough.
usual. Passive:
?
kesecek kesilecek | korumayacak korunmayacak

In our shop, tons of coffee are sold yearly. (sell)

In the meeting, the boss was asked difficult questions. (ask) However, he (the boss) could
answer all of them easily. (Patrona zor sorular soruldu)

Employers were given awards for their hard work last week. (Calisanlara 6dul verildi)

Present ACTIVE PASSIVE ACTIVE PASSIVE
Cont.
Nowadays, | Nowadays, Nowadays, [ Nowadays, Active:
people ---- | millions of trees -- | people ---- | rainforests ---
millions of | -- (by people). rainforests. | - ?
trees.
Passive:
are (present) ?
are cutting | being (cont) cut aren’t
down down (v3) protecting [ aren’t being
protected
kesiliyor

korumuyor | korunmuyor
kesiyor




Past Cont. | When a Millions of trees -- - - Active:
small -- when a small Active Passive
meteor hit | meteor hit the ?
the Earth, Earth in 2010.
people ----
millions of A) are cut Passive:
trees. down ?
B) were cut
down
C) were
were being cut
cutting down
D) have been
kesiyordu. cut down
E) were
cutting
down
Present + + - - Active:
Perfect Active Passive Active Passive
2
Passive:
?
Past + + - - Active:
Perfect Active Passive Active Passive
2
Passive:

?




